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E5IETHD T, HEBICTESIEZITHhETWVZEET,
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BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= B

(1) #R%4 B 2 B il = (1Rl 45 —80,800/) x EL#EHifffi—1,000

-2.41

F/kWh

20232 A ~2023F4 A FH D E S #isHEE

-2.40

F/kWh

- i

0173 M

A: 1K T=Y O TR E 71,300 [ o: 0.1874
B: 1t&H =YD FHLNGIEHE 106,865 M 0.0899
C: 1tdH1=Y DTH A xR 43,744 M 7! 1.0036
FIRARMEE = Axa +BXB +Vxy =66900MH  (100AKEMEIERA)

(2) BB =/ \—H )L Y —E RFAR B i = (Bt & T ¥ #HMfiAE —79,300) x E#EBi{fi 1,000

20232 A ~2023F4 A FHDE S #fisHTmE

-0.01

F/kWh

EAEE

0.001 M

A 1KIET=Y O TR 1E 71,300 [ o 1.0000
B: 1t&H7-YDFHLNGIEHE 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 M 7: 0.0000
BESFHMEMER = AXx o +BX B +Vxy=71,300 (100AkK&HEMEERA)

() HEHAEEM=A<BNIGE. HEHFABEMH=(A—B)xDx(1+HEFHE)
A>COIFE ., HENRAREM=(A—C)xD x(1+;H&F =)

0.00

0.00

A: BTADTYT7TFAREHE-(1-BRE) < AR 12.28
B: BITIAREEAERM (Fitk) 8.00
C: BhnFREEEAE Rl (Friik) 14.00
D: #BEAE 70%
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R EEREEMf=)REEAREM+QMELI=/\— LY —E R FREM+Q)EE H R B
= BiA -3.02|/kWh

(1) BRF B R EE B il = (F 398 HiliiE —83,500/1) x B H{fi+1,000 = ~3.01|FH/kWh
202342 A ~20234F4 A THDE B sHlEE

A: kg T=Y) O F R H TS 71,300 [ o 0.0259 AR 0.197 M
B: 1tdH1=YUDFHLNGITH#E 106,865 M B: 0.2563

C: 1tH=YDFEH A REAdHE 43,744 [ 7! 0.8915

EHEEER = Axa +Bx B8 +VX 7y = 68200 H (100 RBEEFRA)

(2) S = /N\—H)LY—E RFAB Bl = (B ST 198 8HlH% —79,300) x EAEH{H 1,000 = ~0.01]F/kWh
202342 A ~20234F4 A THDE B sHEE

A 1KIET=Y O TR 1E 71,300 [ o 1.0000 A 0.001 M
B: 1tdH7=YDFHLNGIT#E 106,865 M B: 0.0000

C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000

BETHMREMER=AXxa + Bx B8 + VX y= 71,300 H (100 RBEEFRA)

Q) HBENREEM=A<BDHE. HENAEEM=(A—B)xDx(1+HERE) = 0.00{F/kWh
ASCOIZE . HENREBEM=(A—C)XxDx(1+HEMREK) = 0.00|F4/kWh
A BIRDIVUT7TIARFEHE-(1-18KEK) x AR 12.36 BADIVTISAREHIE 10.28
B: Z TR (Fiik) 7.00 BxE 8.5%
C: BINFREEEAE Bl (FHitk) 14.00 R 110%
D: MEAE 70%
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BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BHd -2.95|F/kWh
(1) AR B BRI 22 B i = (S 39 R BHEi4E — 86,100 ) x E 4B {fi 1,000 = ~2.95|1/kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.0048 AR 0.183 /M
B: 1tdH1=YUDFHLNGITH#E 106,865 M 0.3827
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 0.6584
FEHPREHEE = Axa +Bx B +Vxy =70000H  (100MHKEMEAA)
(2) S /N—H )L —E RFAB Bl = (B ST 19 Rl —0F) x Z#EEfH 1,000 = 0.00|F/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ a: 0.0000 A 0.000 M
B: 1tdH7=YDFHLNGIT#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxyr=0H (100 R EEFER A)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGEE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KF) < FEE 12.78 RADTYT7ITSAREHI{E 10.82
B: BITIAREEAERM (Fitk) 7.00 BERE 6.9%
C: BhnFREEEAE Rl (Friik) 14.00 B 110%
D: #BEAE 70%
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BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BHd 6.06|/kWh
(1) WAF 2 ER 22 B i = (S 39 R BHEi4E — 45,900/ ) x E 4B {fi 1,000 = 6.06]M/kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.0275 AR 0.233 M
B: 1tdH1=YUDFHLNGITH#E 106,865 M 0.4792
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 0.4275
FEHPREHEE = Axa +Bx B +Vxy =71900H  (100MHKEWEAA)
(2) S /N—H )L —E RFAB Bl = (B ST 19 Rl —0F) x Z#EEfH 1,000 = 0.00|F/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ a: 0.0000 A 0.000 M
B: 1tdH7=YDFHLNGIT#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxyr=0H (100 R EEFER A)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGEE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KF) < FEE 10.79 RADTYT7ITSAREHI{E 9.11
B: BITIAREEAERM (Fitk) 5.00 BERE 7.1%
C: BhnFREEEAE Rl (Friik) 13.00 B 110%
D: #BEAE 70%
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BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BiiA -2.34|M/kWh
(1) A B SR 2 B = (S 29 R BHEiA% — 79,800 ) x B AEH{Hi 1,000 = -2.34]H/kWh
202342 ~2023F4 A FH D E S at g
A: kB 1= O F ¥ fRH 71,300 H o 0.0415 AR 0.165 M
B: 1tdh7=Y D FHILNGIHE 106,865 M 0.0745
C: 1tdH1=Y DTEH A RAME 43,744 [ 7 1.2499
FHREHEE = Axa +BxB +Vxy =65600F  (100MkKRBMEBEA)
(2) BB /N—Y LY —E R = (B ST HRFMER —0F) x BEEEH 1,000 = 0.00|F4/kWh
20234 2R ~2023F4 A FH D & Sk aHitg
A KB T=Y O TR a1 71,300 M 0.0000 EEH 0.000 M
B: 1tdh7=Y D FHILNGIHE 106,865 M 0.0000
C: 1tdH1=Y DTH A R 43,744 [ 7 0.0000
ST EMES=AXxa +BXxB +VXr=0MH (100 RFHEIER A)
Q) HEHRAZHEE=A<BDIGE . HEHAREM=(A—B)XDX(1+HEHEK) = 0.00]F1/kWh
A>COIGE ., HENRAREM=(A—C)xDx(1+HEREK) = 0.00|4/kWh
A: BTADIYTITFAREHE (118K < FEE 7.61 FADIYT IS4 R EH{E 6.38
B: ZITIAREEHM (Fiik) 5.00 Bx®E 7.8%
C: BhNFREEELE i (Frik) 13.00 EE 110%
D: MHEAE 70%
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MHESAREM=RNEFBEM+QBS 1=/ \—Y LY —E XTI H i +(3)ENE 71 3R 5 B

BAD15kWhET Braa 105.68|M
L st Bia 7.05|F1/kWh
(1) AR B BRI 2L B i = (P39 R BHEIAE — 27,100 ) x E 4B {#i 1,000 = RHID15kWhET 105.68|M
202342 A ~20234F4 A TH D E B sHTEE EEELS 7.05|F4/kWh
A: 1K T=Y O TR E 71,300 [ o: 0.0140
B: 1t =YD FHLNGITH#E 106,865 M 0.3483 ~ 15kWhEE % B {ffi 2.475 M
C: 1t&H1=Y DFEY A mEAfhitE 43,744 [ 7: 0.7227 16kWh~ E£#£ B {fy 0.165 M
FEHPREHEE = Axa +BXx B +Vxy =69800H  (100MKEMEAA)
(2) S 1= N—H )L Y —E RFAB Bl = (B ST 19 RMERS —0F) x Z&EEfH 1,000 = 0.00|F3/kWh
202342 A ~2023F4 A THDE B sHEE
A: 1K T=Y O TR 1% 71,300 M a: 0.0000 A 0.000 M
B: 1tdH1=YDFHLNGITH#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxy=0H (100 RiHmEERA)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KE) < HEE 7.36 RADTYT7ITSAREH{E 6.17
B: EITIAEE R (Fiik) 5.00 P RES 7.8%
C: BhnEREEELE Rl (Friik) 13.00 RER 110%
D: #BEAE 70%
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E5IETHD T, HEBICTESIEZITHhETWVZEET,

MHESAREM=RNEFBEM+QBS 1=/ \—Y LY —E XTI H i +(3)ENE 71 3R 5 B

BAD15kWhET Braa -45.69|M
L st Bia -3.04|F1/kWh
(1) $R%4 2 3R 2 B iff = (T P9 4R il #& — 80,300F) x E#EBI{fi 1,000 = BPID15kWhET -45.55|
202342 A ~20234F4 A TH D E B sHTEE EEELS -3.03|F/kWh
A: 1K T=Y O TR E 71,300 [ o: 0.0406
B: 1t =YD FHLNGITH#E 106,865 M 0.0992 ~ 15kWhEE % B {ffi 3.185 M
C: 1t&H1=Y DFEY A mEAfhitE 43,744 [ 7: 1.1994 16kWh~ E£#£ B {fy 0212 M
TR = Axa +BXB +Vxy =66000MH  (100AK&HMEIERA)
| EEDNEHDI5kWhET
(2) S = /N\—H )L —E RFAB Bl = (B ST 198 HHlH% —79,300) x ZAEH{H 1,000 = ~0.14]FH/kWh
202342 A ~2023F4 A THDE B sHEE -0.01|M/kWh
A: 1K T=Y O TR 1% 71,300 M a: 1.0000 1 FTEERA LB LIS
B: 1tdH1=YDFHLNGITH#E 106,865 M 0.0000 ~ 15kWhEE % B {ffi 0.017 M
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000 16kWh~ E£#£ B {fy 0.001 M
BEETFHMEMER = AXxa +BX B +VXxy=71,300 F  (100AkK&HEMEERA)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KE) < HEE 7.37 RADTYT7ITSAREH{E 6.16
B: BITIAREEAZEEM (Fitk) 5.00 =P 8.0%
C: BhnEREEELE Rl (Friik) 13.00 RER 110%
D: #BEAE 70%




MEEATYT7HEE)
N )a1—TFS5oDEESE

2023%F T7H%

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

MREBEFRBEEMOENLE

gremz

BRXEH T LR/INT—

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

MHESAREM=RNEFBEM+QBS 1=/ \—Y LY —E XTI H i +(3)ENE 71 3R 5 B

BAD11KWhET Braa -23.72|M
L st Bia -2.16{F1/kWh
(1) JAF 2 ER 22 B i = (S 39 R BHEi4E — 80,000 ) x EAH{fi 1,000 = RADIKWhET -23.72|M
202342 A ~20234F4 A TH D E B sHTEE EEELS ~2.16|F/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.0875
B: 1t =YD FHLNGITH#E 106,865 M 0.0770 ~11kWhEE #E B {ffi 1.694 [
C: 1t&H1=Y DFEY A mEAfhitE 43,744 [ 7: 1.1770 12kWh~ E£#£ B {fy 0.154 M
FEHPREHEE = Axa +Bx B +Vxy =66000H  (100MHKEMEEAA)
(2) S = /N\—H )L —E RFAB Bl = (B ST 198 HHlH% —79,300) x ZAEH{H 1,000 = 0.00|F3/kWh
202342 A ~2023F4 A THDE B sHEE
A: 1K T=Y O TR 1% 71,300 M a: 0.0000 A 0.000 M
B: 1tdH1=YDFHLNGITH#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxy=0H (100 RiHmEERA)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KE) < HEE 7.37 RADTYT7ITSAREH{E 6.16
B: BITIAREEAZEEM (Fitk) 5.00 =P 8.1%
C: BhnEREEELE Rl (Friik) 13.00 RER 110%
D: #BEAE 70%
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R EEREEMf=)REEAREM+QMELI=/\— LY —E R FREM+Q)EE H R B
= BiA 5.41|M/kWh

(1) AR 2 ER 22 B i = (S 39 R BHEiAE — 27,400 ) x BB {fi 1,000 = 5.43|M/kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.0053 AR 0.136 /M
B: 1tdH1=YUDFHLNGITH#E 106,865 M B: 0.1861
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 1.0757

EHEEMER = Axa +Bx B8 +VX 7y = 67,300 H (100 RBEEFRA)

(2) S = /N\—H)LY—E RFAB Bl = (B ST 198 8HlH% —79,300) x EAEH{H 1,000 = ~0.02]FH/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ o 1.0000 A 0.003 [
B: 1tdH7=YDFHLNGIT#E 106,865 M B: 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000

BETHMREMER=AXxa + Bx B8 + VX y= 71,300 H (100 RBEEFRA)

Q) HBENREEM=A<BDHE. HENAEEM=(A—B)xDx(1+HERE) = 0.00{F/kWh
ASCOIZE . HENREBEM=(A—C)XxDx(1+HEMREK) = 0.00|F4/kWh
A: BTADTYT7TFAREHE-(1-BRE) < AR 7.25 BADIVTISAREHIE 6.02
B: Z TR (Fiik) 5.00 BxE 8.6%
C: BINFREEEAE Bl (FHitk) 13.00 R 110%
D: MEAE 70%




